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Subject: Mathematics             	Grade: 11º        		Period: III	                          Year: 2019
SUGGESTION
Each period, the teacher formulates a problematizing question or situation related to the learning goals that help the student to train him/herself and get ready to prove his/her knowledge and proficiency levels in each area. This process is scheduled for the week in August 12th to 16th. The student should consult the bibliographic references cited by the teacher and turn in three academic products for the period written with basic standards to give account for the skills acquired.
1. Problematizing question:

What are the consequences in the field of mathematics the study and calculation of limits to infinity?

2. Learning Goals

Master the concept of continuity and its properties to apply them in the concept of derivates and daily life problems.

3. Academic products
Infinite, indeterminate and special limits (Algebraic method).
Limits of a succession
Continuity of a function
Introduction to derivatives

4. Bibliographic references  
· https://www.youtube.com/watch?v=h9lEAU5-CSg
· https://www.youtube.com/watch?v=o2UTk8bsLS0
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Solve the following exercises:
1. [image: ]
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3. A pool is emptied according to the function where v is volume expressed in m3 and t the time in minutes. At what value does the volume approach when time approaches 7 minutes?

4. The area of ​​a rectangular terrain is given according to the function A=where “a” is the width of the land expressed in meters. At what value does the area of ​​the land approach when its width approaches 0 meters?

5. Solve
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Ejercicios resuehtos Bloqued. Calculo - Tema. Limites

-1 Resolver los siguientes limites:

3

a) llmx2+1; b) lim *¥=o ;
y>-1x2 1 5 x? =25

d) limﬂ; e) lim x —2x

x>0 x ¥o2 x —4x+4
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-1 Resolver los siguientes limites:
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